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GENERAL ENGLISH

36. Read the following sentence : 38.
“Diamond is the costliest stone.”

When the above sentence is changed to
the positive degree it will become

(1) Diamond is costlier than any other
stone,

(2) No other stone is as costlym
diamond.

(3) Some other stones are as costlm
diamond. "

J_él-."
(4) Diamond is costlier than all ‘Giﬁ;

stones. f-_

e

[s)

37. Read the following sentence : { jm,

“The furnitures in the office w 2 eJH
damaged.” C‘L‘

Which of the following sentences is 5t"l'l!F
correct form of the above sentence ? [ |

(1) The furnitures in the office lw e
E‘i
damaged.

(2) The furnitures in the office was
damaged.

(3) The furniture in the office was
damaged.

(4) The furnitures were damaged in the
office.

184 (8—A)

Match the following sentences with the

figures of speech used in them :

Sentences :

A. - The sun smiled down on her.

B. That teenaged hoy ate everything in
the house.

C. My dog is like a tornado; she dashes
through the home destroying

" everything she touches.
D. She sells seashells.
E. The world is a stage.

Figures of épeech :

I
IL.

III.
v,

V.

Hyperbole
Personification
Alliteration
Simile

Metaphor

Select the code for the correct answer

from the options given below :

(1)
(2)
(3)

(4)

A B C D E
I I m v v
v

I 1 v I v
I 1 v V I
I O VvV IV I




39.

440.

184

The Antonym of ‘Candid’ is

(1) Bluff
(2) Devious
(3) Equal
(4) Blunt

Pick the group out of the four groups
given, which has all four correct pairs of
singular and plural nouns and mark the

correct option in answer sheet.

(1) a. ox-— oxes
b. tree —trees |
¢. box — boxes

d. calf - calf

=

(2)

|

man — men

41.

oS

ITLUA

2

knife — knives

c. fungus - fungi

€S

d. mouse — mice

(8) a. dog—dogs
b. fish — fishes

c. index — indexes
d. wife — wifes

leaf — leafs

life — lifes

(4) a.

¢. loaf - loafs

d. foot — feet

(8-A)

Out of the four groups given, select the
group that consists of abstract nouns
formed from adjectives.

(1) a. wise — wisdom
h. dark - darkness
¢. poor — poverty
d. young - youth

(2) a. high - higher
b. long — longer
¢. . small — smallest
d. big - bigger

(3) a. wide —width
b. sole — solely
c. few —fewer
d. proud - pride

(4) a. hot -heat
b. eool —cold
¢. dry—dried
d. brave - bravity

Out of the four groups given, choose the
proper group of feminine gender formed
from masculine gender and mark the
correct options in your answer sheet.

{1) a. hero— heroine

b, lad - lass

¢. cxecutor — executors

d. heir — heirs
(2) a. poet— poetess

b. tiger — tigers

c. god — goddess

d. hunter — hunters
(3) a. actor— actress

b. duke — duchess

¢. host — hostess

d. wizard — witch
{4) a. lion - lioness

b. patron — patrons

e, lord —lady

d. master — mistress




For Questions no. 48 and 44, a

sentence has been given in Active or Passive

Directions :

voice. Out of the four alternatives suggested,
select the one which best expresses the same
sentence in Passive (if given sentence is Active)
or Active (if given sentence is Passive) voice and
shade/blacken the corresponding circle in your

answer sheet,

Directions : For Questions no. 45 and 46, in
each of the following questions, a sentence has
been given in direct/indirect speech. Qut of the
four alternatives suggested, select the one which
best expresses the same sentence in indirect (if
(if given
sentence is indirect) speech and shade/blacken

given sentence is direct) or direct

the corresponding circle in your answer sheet.

43. My uncle promised me a present. 45. She said, "I saw a book here."
(1) A present was promised by (1)} She said that she saw a book here.
uncle to me. @ﬁ (2) She said that she saw a book there.
(3} She said that she had seen a book
(2) I was promised a present by 1?11&5 here.
uncle, ¥ (4) She said that she had seen a book
: there.
(3) I had been promised a present byl
. 46. Sarita said to me, "I will do it now or
my uncle, P | never."
(4) I was promised by my unc}gt:“} (1) Sarita told me that I would do it
then or never.,
present,
( ﬂ (2). Sarita told me that she would do it
i now or never.
CL} (3) Sarita told me that she will do that
44. They greet me cheerfully every mornifg. | now or never,
i (4) Sarita told me that she would do it
(1) Every morning I was gree@d:} then or never.
cheerfully. I I
, f - 147. Choose the word which is nearest in
(2) T am greeted cheerfully by them meaning to the underlined word in the
. following sentence :
every morning.
“The somber speech of the leader did very
(3 I am being greeted cheerfully by little to cheer the supporters.”
them every morning. (1) Jarring
(4) Cheerful greeting is done by them (2) Practical
every morning to me. (8) Gloomy
(4) Lengthy
184 (10-A)




48.

49,

b0,

184

Choose the word which is opposite in
meaning to the underlined word in the
following sentence .

“The archaic buildings that dot the city

speak richly about the country’s

heritage.”
(1)
(2)
(3)
(4)

Monarch
Spiritualistic
Modern

Fantastic

Choose the correct one word substitutiony
for the following sentence from the¥

|

Directions : For questions 51 ~ 83, a passage
has been given. In the passage, some of the
words have been left out. You have to read the
passage and try to understand what it is about.

Then fill in the blanks with the help of the
options given below it and shade/darken the
appropriate circle in your answer sheet.

A belief system is a set of mutually
supportive beliefs. Belief systems are the
framework upon which cultures and societies
function. It is the bond that 51
together, and it is the small voice inside each of

that urges us to be true to what we have
52
from our learning nor can we

civilizations

n taught. We cannot our spiritual
chings
arate our beliefs about who and what we

ve from our values and our behaviour. We ask

choices given below : gy

lw
“A  military structure where arms,i
ammunition, and other milita¥y
equipment are stored and trainin
is given in their use” _
(1) Cathedral (
(2) Sabbtical (
(3) Arsenal 1
(4) Depot

|
Find out the nearest meaning of tEl'lE"'

given word choosing the right answer
from the choices given below :

“Lucrative”
(1)
2)
{3)

Having good music
Which ecannot be compared

Cannot be conquered

| that educational systems 53 our right to

religious freedom and our right to live in

Fhyarmony.

5% What is the correct answer for the Blank

e & (51) ? Select from the options given
below :

f} (1) completes

1% @ holds

L (3) compels

s (4} breaks

What is the correct answer for the Blank
(52) ? Select from the options given
below : '

(1) distinguish

(2) associate

(3) separate

{4) modify

What is the correct answer for the Blank
(53) ? Select from the options given
below : '

(1) recognize

(2) infer

{3) reach

E.

53.

(4) Producing a sizeable profit

{4) diminish

(11-A)




Directions : In Questions no. 54 to 57, there
are sentences which are divided and numbered
into three parts, and one of the parts may
contain an error. Identify the error by (1), (2) or
(3) given under the parts of the sentence. If
there are no errors, mark (4) No error.
Shade/blacken the corresponding circle in your
answer sheet.

Example :

Neither he
(1)

nor his team

(2)

were present that day. No error.

3) (4)

Kas

[

Explanation :

The correct answer in this case is Opti 1
(3). It should be “was present that dawze

—
-

M}

So you must shade/blacken Option (é) 1{ _‘ﬂ

this question in your answer sheet.

O

54. The manager admired the way the

(1)

C

employee had accomplished all his WRI rl!

(2)

and appreciating the methods adopted by
him.

(3)

No error.

o |
B
.:qt

-

}57.

=

(4)

55.

56.

They are looking for a Public Relations

(1)

Officer with a dynamic appearance

(2)

who can inspire confidence through his
cultivate manner.

(3)
No errﬁr.

(4)

A strong earthquake with a magnitude
(1)

of 7-5 on the Richter scale shaked all the
(2)

115 islands located along the Pacific coast.

(3)
No error.

(4)

The safety of the nation is paramount

(1)

and the people should realised the same
(2)

by following the rules and regulations
laid down by the Government.

(3

No error.

(4)




Directions : Questions no. 58 and 59 consist of | __. . : )
Directions : For Questions no. 60 to 63, an
sentences with a blank in each. You have to | . .. _

_ idiom or phrase has been used in the sentence.
choose the best answer which can be filled in You have to choose the sentence which explains
the blank space and shade/blacken the | ,p. o6rrect meaning of that and shade/darken
corresponding circle in your answer sheet. the correct answer in your answer sheet.

. . ' Example :
58. The public attending the rally was
by the politician’s rhetorical Tejas attends Karate classes once in a
speech on development and nationalism. | blue moon.
(1) carried off 1L, E 5
: : (1) Tejas attends Karate classes
(2) carried away ': regularly.
—— .
(3) carried on "j (2) Tejas attends Karate classes rarely.
E ; ' (3) Tejas attends Karate classes
(4) carried through ( !
= fortnightly.
) |
. (4) Tejas attends Karate classes
:1) frequently but not regularly.
59. The dilapidated building was i:!
to make way for a big mall Explanation :
in the heart of the city. I-'L
The answer is Option (2) as the
(1) pulled down underlined part means ‘rare occurrence of
something’. So you have to choose Option
(2) pulled off
(2) and shade/darken the corresponding
(3) pulled through answer in your answer sheet for this
example.
(4) pulledin
184 (13-A }




60.

61,
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The project was put on_a backburner

while the company focused on immediate

issues.

(1) The project was hidden from the
company board ‘as the company
people wanted other issues to get
resolved first.

(2) The project was considered as a
burning issue and was put up for
immediate action in front of the

competent authorities.

(8)

The project was set for a %
{

priority with other immec{i.z!

"

1_5-'1
The project was kept at a .lgm

priority and company focusedf-m‘
other immediate issues. ——

i8sues.

(4)

C}"f&

)
He does not have any =Ina.1

Mﬂmﬂ;
this issue of the company.

. -
He has to work continuouslm
solve the matter as it is impor

(1)

and urgent. | i
| - -
{2) He does not have any private motive

to serve from this issue of thé
company.

(3) He has undertaken a difficult task

much higher than his capability.

(4) He doesn’t have to work sincerely

for this issue of the company.

(14 - A)

62.

Cauvery water sharing has proved to be

an apple of discord.

(1} Cauvery water sharing issue is
becoming very complicated with
each passing day.

(2)

Cauvery water sharing issue is
causing too much of disturbance.

(3)

Cauvery water sharing issue is
leading to a dispute.

(4)

Cauvery water sharing issue is too
much in the news these days.

The scientists participating in Kishor
Vigyanik Protsahan Yojna have old

heads on young shoulders.

The scientists participating in Kishor

Vigyanik Protsahan Yojna
(1) are too dependent on senior
scientists,

(2)

do not have respect for senior
scientists.

(3) are wiser than their age.

(4)

are not hard-working and rely more

on instincts.




Directions : Read the following passage and
answer the items that follow (Questions no.
64 to 67). Your answers to these items should be
based on the passage only.

Passage

The Festival of Bonalu has become one of
the official Hindu festivals of newly formed
Telangana State. This is mainly celebrated in
the twin cities of Hyderabad, Secunderabad
and also in some parts of the State. The
Goddess Mahakali and various incarnations of
Shakti as  Mysamma, Muthyalamma,
Pochamma, Yellamma and Peddamma are
worshipped in this festival on a great scale.
This is observed generally on the Sundays in
Ashada Masam, in the months of July org
August every year. The name Bonam itself is
derived from the word Bojanam- that meanssjfs
meal or food offered to the Goddess.

The devotees prepare rice cooked with
milk and jaggery in a new brass or earthen pot.
It is adorned with neem leaves and lighted
lamp on the top of it. They make a procession
on the temple by carrying the pots on their
heads along with new sari, bangles, turmeric
and vermillion to offer Bonalu to the Mother
Goddess.

It believed that the festival is
celebrated to Ward off the diseases and usher
in good health, peace and prosperity. The

18

festival is supposed to have begun in 1869
when plague broke out in the twin cities. Then
the people wanted to appease Mother Goddess
whose anger was considered to be the cause of
the epidemic.
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This is specially celebrated in Ujjain
Mahakali Mandir, Lal Darwaza, Secunderabad
for three days with great pomp and gaiety. The
festival concludes with the immersion of
Ghatam on the third and final day whereas the

-second day is celebrated as Rangam.

64. Which of the following is not a true
statement according to the passage ?

(1)

The festival is celebrated in the
Ashada Masam,

The festival is celebrated in Delhi
and Mumbai.

The festival is associated with food
offered to the Goddess.

Pochamma is an incarnation of

Goddess Mahakali.

On which particular day is the festival
observed ?

Monday
“ " (2) Tuesday
(/) o ‘Friday
ﬁ} (4) Sunday

What do you mean by ‘Bonam’ ?
()
(2}
)
(4)

Gold ornaments
Wooden deities

Meal or Food
Gathering of Relatives

87. What do they immerse on the third day

of the festival ?
(1
(2)
(3)
(4)

Rangam
Goddess Mysamma
Bonam

Ghatam

(15-A)




Directions : In Questions no. 68 to 70, each
question contains a paragraph of 6 sentences.
The first and the sixth sentences are given in
the beginning and end and numbered 1 and 6
respectively. The four sentences in the middle
are jumbled and labelled P, @, R and S. You
must identify the proper order of these four
sentences and shade/blacken the option that
correctly identifies this sequence.

68.

Example :
1. Once upon a time there lived a kj'ng.

P. One day while hunting he(j&}
attacked by a tiger.

Q. He had three ferocious hu%‘t_i_’f;
dogs. __

R. The dogs pounced on the tige"F" ané
saved the king’s life.

S. The king used to take them Wi }
him while going out.

N

6. He loved them till the end of hisEﬁ

The correct sequence is _ CL}
() PQSR . -
(2) RQSP
3) @QSPR i |
(4) SRQP | W
Explanation :

The correct sequence or order in this
example is QSPR. So you have to
shade/blacken Option' (3) in your answer
sheet.

184 . (16-A)

Every year, we see more and more

vehicles in the cities.

In other countries, people are trying

to reduce the amount of oil and

- petrol they use.

As they are aware that it pollutes
the atmosphere and causes global

warming.

Many of them have very big engines

which use a lot of petrol and are a

source of pollution.

They do this by driving electric
vehicles and by wusing public

transport.

I think it’s time we should start to
reduce our fuel consumption and
think seriously about our

atmosphere.

The correct sequence is

(1)
(2)
(3)
(4)

PRQS
QSPR
RPQS
QSPR
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The correct sequence 1s

(1)

(2)

(3)

(4)

Our society is built with money for
mortar; money is present in every

joint of circumstance.

Money gives us food, shelter and

privacy.

It might be named the social
atmosphere, since in society, it is by

that alone that men continue to live.

—

dS

It permits us to be clean in person,

enables us to help the distresses (;E

-

others.

Only through that can they reach or

70.

[TLA

J

affect one another.

ES

o

And puts us above necessity so that

we can choose the best of life.

PRSQ
QSPR
SRPQ

RQSP

For

(17-A)

First, I have never met a German
shepherd whose intelligence wasn't

above average.

In addition, German shepherds are

dedicated to their owners.

They can learn how to turn door
knobs, follow a ftrail, or identify

illegal substances.

My dog Max waits patiently at the
end of the driveway every night

until T come home.

Not even a juicy bone will tempt

him to move.

Finally, he is usually suspicious of
all strangers, so he barks or growls
when anything or anyone unknown

is near his famly.

The correct sequence is

(L)

(2)

(3

{4)

SQPR
QPSR
QSPR

QPRS




BOFRIT° DL

M. OB R DY Joato Ut neRy |73 womd @mEEA wom o Slceiog
Soertomd 599,559, 070333. S@IeFTS, BT Bert TRV ?

(1) 12-203 =7 35 deeds® R

TYTMOT R 2one® Zex )
< o @ -

c}’jw—eegas; OLITIOA

1 e B Beed 352y I3
TOLFE waias‘ﬁ Treeh, esocéc"cga‘
B, Bowo DR Bdwer

(2)  10-203 ¥I* 3, Sewde 85 OB G TR 803 BRd
I & )

TMT N Buer Fexr, ,;?3
\
"

EF ~ 98T 020N
T (2) IR DT Teosr

(3) 12-wo3 ¥3F In draeabas‘l..?z; STHTR wod =R DIy [
ORI, Bwet Few £ O ERRE  oro g
Qe ~ g, orTn C}‘} 2,00 Wowo DI Bwer
(4) 1003 €&° S, decsda mey VOB G @0l Ina.
TLOMBT N, oner Fewr
5 -G oromn Q} @ & (37) 03 TRR [T
72. MS Word & YS0oREE word 39, % >> TR0 AR @iy S8y
T.88,0070353 ? | ToosF et Bl SoBoGRe
(1) PIoesers I es 89 o TR, oo By Bwes
s8> fdoxnn | SoBO* Ry O,
(2) SOIREET [T B 2.0 B
wcd 3cinA (4) mm%%%onf LR RTTE e
3) Poeserd S Bt womd Qe B 0BT YR WP  85°
oD RSB =ne.

@) o3 cIRREe we




COMPUTER KNOWLEDGE

71.

72,

184

The Footnote Text style defines |73.
characters as

(1) 12-point Times New Roman and
paragraphs as single-spaced and

right-aligned

(2) 10-point Times New Roman and
paragraphs as double-spaced and
left-aligned

(3) 12-point Times New Roman and

KdS

paragraphs as double-spaced an@
right-aligned

[

(4) 10-point Times New Roman and
paragraphs as single-spaced and

left-aligned

s

How will MS Word respond in a repeated
word ?

(1) A Red wavy line under the repeated

—_
e,

word

(2) A Green wavy line under the

repeated word

(3) A Blue wavy line under the

repeated word

{4) None of the above

(19-A)

If you need to double underline a word,

how will you do that ?

(1)

(2)

(3)

(4)

Go to Format menu and then Font
option. Open Underline Style and

choose Double Underline.

From Format menu choose Font
option and then from Font tab open
Underline Style and select Double

Underline.

Select the text, then choose
Format »>> Font and on Font tab,
open Underline Style and choose

Double Underline.

Click Double Underline tool on

Formatting toolbar.
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75. Al, Bl, 02 5083 D2 3pe3nvdca 78. MS Word ¢ Insert Endnote )
SPYED  FoRBAMD  WASHEE | (ST Q0T RRT) of 5900300 ?
) o ~ . [ag]

O3 ROCIRT =ene ?
. 1) Fo© D

1) = 1

(1) =MINIMUM(A1,B1,C2,D2) @) el st

(2) =MINIMUM(A1:D2)

(3)  oedore Zoh

(3) =MIN(A1,B1,C2,D2)

(4) Q"

(4) =MIN(A1:D2)
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Consider the following statements :

A. Hard reboot is the restarting of the
computer after the power supplied
to the computer is abruptly turned
off.

B. Data loss or operating system

corruption is not observed in hard

reboot.

Which of the above given statements

is/are correct ?

Select the code for the correct answer

‘from the options given below :

|

Whoe  has BASIC

Programming language ?

76. developed the

(1) John George Kemeny énd Thomas

Eugene Kurtz

(2) John George Kemeny and Dennis

Ritchie
(3)

Thomas Eugene Kurtz and Grace

Hopper

Grace Hopper and Dennis Ritchie

m (4)

Kd

77"  Where can you find the horizontal split

! bar on the MS Word screen ?

®)L

On the left of horizontal scroll bar

(1) Aonly i
(2) Bonly

(3) Both AandB -
(4) Neither A nor B {

Which of the following is the correct wiy i

to find the lowest value contained in the
cells A1, B1,C2 and D27

(1) =MINIMUM(A1,B1,C2,D2)
(2) =MINIMUM(A1:D2)

(3) =MIN(A1,B1,C2,D2)

(4y =MIN(A1:D2)

F— T r

On the right of horizontal scroll bar

2 (2)
g 3)
@
-

i

On the top of vertical scroll bar

On the bottom of vertical scroll bar

Where do we find Insert Endnote in
MS Word ?

78.

(1) File Menu

References Menu

{2)

(3) Mailings Menu

(4) Design Menu

(21~ A)
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81. Match the Input method (List I) with
79. What is Web Crawler ? the Characteristic (List II) :

(1) It is a computer program that

} . List I List 1T
browses the world wide web in an (Input Method) (Characteristic)
automated manner and in an

. A. MICR I. Readsthe
derl hion. .
orderly fashion pre-printed dark
boxes marked with
{(2) It is a computer program that ink or dark pencil

browses the world wide web with

B. OMR II. Recognises a
character printed
on a document
using magnetic ink

the intention to use the free memory

S

available in the virtual world.

(3) It is a computer program that '
- C. Bar-Coding III. Reads an image

and converts it into
a setof0andl

assists the world wide web to®

[TIKd

establish a quick search engine. |

(4) None of the above is correct about -OCR IV. Reads a small bar
- of varying
Web Crawler thickness and
r spacing

Select the code for the correct answer

from the options given below :

O

80. The correct value of the formula L
=ROUND(2.31,0)+CEILING(1.32,1) ' A B C D
in MS Excel is

1 I I III JAY
(1 3
' 2) 1I I I I
2) 4
3 1 I I\Y I
(3) 3.63
@ 1.32 4) I H v III

184 23-A)




82,

83.

(@ somauc BRrE

184

3 ONT Fperoos, odeeid, b
AN BRI T BERE> wowed
EACon T T SIS
bowphosy  ARievr  38ged  wgwd
B IndRI0S, Fo83 ey
TRECINToZ IR ?

SV Nedoislonlyiey
(2) BoFRC Lo

(8) ERtHT TREF

kas

(4) A0 LOTT

aht

I @r@% |

WPFTOTZ
BRBDTN WHHRTS Fw* 1R
BesDORLY, WB  woTH WO

ﬁ#oao:de;ﬁd WSO 2.0 339@05@?'{3 7

m@@wdm

(1) gowr %U‘

(3) znd

4) RDedR cRPTe e,

84, cﬁod:zscgei

ﬁoaé%é&c” %d;(ﬁaocb@j :

(24— A)

o033 mngSornen
RowoHRTod BN ésﬂ?ﬁﬁ@d& Zonedy :

A Aeer 3eTf wow oB,0TsY woheging
TIREFEOT  Bpen’ mesy 88
OTOOT  LUgedE  MESIACTLD

eBOMTIR STODT)

DeTiUE: (RRrcierst) Brs.

6%&53?‘

B. Drdec® aow Fom3ny witmmos

B eron) R Toa N
OKFIT R u#méwmﬁ 20T
ROT3eB:R) ToLOTT ool
BRBRTOT WHFTIIR

DF0E ) oo,
3] = -

C. WRBCWEr 0w ZomBFH
R Doy FNh 3B / IS
NTRTINE  Deed w%ﬁoéﬁo&:
TOYRTRE IRBLO GVBeOTBLS.

B3 33000 BewBned) osmided /a3 3o ?
REOT  sodned  Fooind BTEN
RoBemTOL :

(1) C=%g,
(2) ADFB IR,
@) B3 CIng

4 ABZRC




82.

83.

184

‘that the intruder can gain access later ?

Which one of the following is a program | g4
that seems to be doing one thing but is
actually doing another, that is, it sets up

a backdoor in a computer system such

(1) Keystroke logger

{2) Computer phishing

dS

(3) Trojan horse

(4) Spam ping

htk

s

Which one of the following is a small
piece of data sent from a website and

stored in a user’s web browser while a

- O

user is browsing a website ? L
{1) Thumbnail
(2) Computer worm

(3) Cookie

{(4) None of the above

(25— A)

Consider the following statements about
the characteristics of the malicious
software :

A

Stealware is a software that
overwrites affiliate marketing codes
so that revenue is redirected to the
spyware creator rather than the -

intended recipient.

Nagware is a software that reminds
the user by popping up a message
when the user starts the program
while the wuser is wusing the

application.

Chatterbot is a software which
stimulates intelligent conversation
with one or more human users via

auditory/textual methods.

Which of the statements givén above-

is/are correct ?

Select the code for the correct answer

from the options given below :

(1)
(2)
(3)

(4)

C only
A and B only
B and C only

A BandC
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Consider the following devices :

Which of the following statements is]

correct ? r

(1)

(3)

(4)

Scanner
Kevboard
Printer
Mouse
Monitor

Plotter

A, B, C are input devices and D, E,

F are output devices.

A, B, D are input devices and C, E,

F are output devices. l I

A, B, D, F are input devices and C,

E are output devices.

A, B, F are input devices and C, D,

E are output devices.

86. Consider the following statements about

COBOL language :

A. COBOL is an object-oriented high

level programming language.

B. COBOL is used in computationally
sensitive areas such as numerical
weather prediction and finite

element analysis and computational
fluid dynamics.
Which of the above given statements

isfare correct ?

e Saloct the code for the correct answer
E from the options given below :

_Ej 251)
m (2)
(1) 3

S (4)

Aonly
B only
Both A and B

Neither A nor B

Q What is a slide-title master pair in
MS PowerPoint ?

The title area and text area of a

(1)

specific slide

(2} A slide master and title master

merged into a single slide

(3) A slide master and title master for a

specific design template

(4) All of the above

(27-A)




88,

Y

89.

- (4)

184

OORST  TDCTTOOWOET  RRWT) LoD
AOATRL BE F @Ry FowrHe ©n

Cat i inl 20 :a;dw‘ﬁ%fdoq
RaoEreEB vmed0gmoNTS ?
,idzs‘ psnikied
2) % =
(3) idrs‘ Jre
4) F o Sng°
MS Excel &,}@5 (:dsaoes-dma) %F

BINYR, w03 NS deednbi
Foneds : | g
A. Excel 2T 3ers $o§§9 @Oﬁ@o

=

gdoden Shift + F3 ECCO@E*
LETTIE, Pt
B, @R arr  suwd)  AKOKE

Alt + Shift + F1 3) u%-&mmgﬁ}
C. o 5#?2&35‘30 AV~
SRBED Ctrl + F9 w%wﬁa@
35 S0t Beedrige IR /79 R0 %
LERTOD wodnYY, oo e%-a’a_
RoBeBRTOR !
ARRE
A3 C 303
B 2353 C 2398,

(1)
(2)
(3)

A B3R C

90. .07 @N"“sﬁ 2,003 ﬁﬁd@t:é@o DOS 3¢

91.

- 3en3

- C. SMTP -

WEBOT 2,07 e ( 5;&330:3‘) o3RRI ?

(1) VOL

(2) LABEL
3) CLS

(4) COPYCON

S e SRy
DFORodRe0T Domtes :

NS
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Which PowerPoint view displays each
slide of a presentation as a thumbnail

and is useful for rearranging slides ?

(1) Slide Sorter
(2) Slide View
(3) Slide Show

(4) Slide Master

Consider the following statements about

shortcuts in MS Excel :

A.  Shift + F3 is used to open the Excel

Insert Function window.

B. Alt + Shift + F1 is used to insert a

new worksheet.

C. Ctrl + F9 is used to minimize the

current workbook.

Which of the statements given above

is/are correct ?

Select the code for the correct answer

from the options given below :
(1) Aonly

(2) A and C only

(3) B and Conly

(4) A,BandC

90. A command in DOS used to set a name
to a disk is

(1) VOL
(2) LABEL
(3) CLS

(4) COPYCON

dS

E Consider the following Abbreviations

iy with their expansions :

,,,g: A. BASIC - Beginners All-Purpose

E:jj Symbolic Instructions Code

B. LIFO - Last In First OQut

C. SMTP - Simple Management

Transfer Protocol

[€S]

O Which of the pairs given above is/are

! correct ?
a——-t]

Select the code for the correct answer
from the options given below :

(1) Aonly

(2) BandConly

(3) A and B only

(4) A,BandC

(29-A)
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Which option can be used to find

NPT . 95. Match the language generations (List )
document statistics in MS Word which with the languages (List 1) they are
includes number of pages, words, associated with :
characters, paragraphs and lines ? List I TistIT
(1) Statistics (Langugge {(Languages)

' Generations)
(2) Word Count A. First I. Structured
{3) Thesaurus Programming
(4) Spell Check Languages
pe e B. Second II. Domain Specific
: Languages
m C. Third ITI. Assembly Languages
D. Fourth IV. Machine Languages
ENIAC, EDVAC, EDSAC are the ﬁ E Ii

examples of

(1)

First Generation Computers

Select the code for the correct answer
from the options given below :

-u!_.—:i' |
{2) Second Generation Computers i A B C D
(3) Third Generation Computers - 1) 11 v I I
(4) Fourth Generation Computers C}j@ I1 I 1w 1
{ Jﬁ?’} 3 IV III I II
: 4 IV I I 11
o
Who is a Blue Hat ? . Consider the following versions of
Android release by Google :
1 h i
(1) }i:ck.ei | that breall(.s. security for A Kitkat
altruistic or non-malicious reasons ] B. Marshmaliow
(2) Hacker of ambiguous ethics OL_;_ C. Lolkipop
borderline legality, often frankly D. Jellybean

admitted
(3)

Someone outside computer security
consulting firms that are used to
bug test a system prior to its
launch, looking for exploits so that

they may be closed

None of the above

@

(31-A)

Arrange them in chronological order of
release. '

Select the code for the correct answer
from the options given below :

1) B,AC,D
2) AB,C,D
3) D,ACB
4) D,C,A'B
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Match the following :
List I List IT
A. Windows I. Application
Software
B. Antivirus II. System Software
C. Tally ITL. Browser
D. Internet IV. Utility Software
Explorer

Select the code for the correct answer
from the options given below :

A B C D
(1) II v 1 ItI
(2) II v oI I
3 IV I 11 I
(4) I Imm I IV

What is the bootstrap in the computer
operating system ?

(1) A program to switch off the system
when system’s firewall is breached

or security compromised.

(2) A program to boot out the virus and

bugs found in the system.

(3) A program to load other data and
programs initially at the time of

booting.

None of the ahove

(4)

99.

S

(©
N

Al

Foresi

Consider the following two symbols of
the flowchart design :

C O <>

Which of the following is correct ?

(1} A represents the Start/End and B
represents the Decision Making
(2) A represents the Input/Output and

B represents the Start/End

A represents the Process and B
represents the Connector

(3

(4) A represents the Decision Making

and B represents the Process

Match the following :

List I ListII
A ] >— L ORgate
B. :D— I AND gate
C. =) »— L NOT gate
D. :D— IV. NAND gate
E. — e~ V. NORgate

Select the code for the correct answer
from the options given below :

A B C D E
O H IV I VvV I
2 I IV vV 1 I
@ T v m 1V
@ m w 1 Vv

If
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